




Which of the following is the fourth to the left 
of the sixth to the left of W in the above 
arrangement?
उपरोक्त व्यवस्था में निम्िनिनित में से कौि W के बाएं
से छठे के बाएं से चौथा है?

01. U 
02. D
03. E 
04. 7
05. 9
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How many such consonants are there in the 
above arrangement each of which 
immediately followed by a symbol but not 
immediately preceded by a number?
उपरोक्त व्यवस्था में ऐसे नकतिे व्यंजि हैं नजिमें से 
प्रत्येक के तुरंत बाद एक प्रतीक है िेनकि ठीक पहिे 
एक सखं्या िहीं है?

01. None 
02. One
03. Two 
04. Three
05. More than three
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How many such symbols are there in the 
above arrangement each of which is 
immediately preceded by a letter and 
immediately followed by a number?
उपरोक्त व्यवस्था में ऐसे नकतिे प्रतीक हैं नजिमें से 
प्रत्येक के ठीक पहिे एक अक्षर और ठीक बाद एक 
सखं्या है?

01. None 
02. One
03. Two 
04. Three
05. More than three
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Which of the following is the ninth to the right 
of the seventeenth from the right end in the 
above arrangement?
उपरोक्त व्यवस्था में निम्िनिनित में से कौि सा दायें
छोर से सत्रहवें के दायें से िौवां है?

01.N 
02. $
03. 4 
04. W
05. K
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Six members of a family E, K, O, F, D and W 
are related to each other. E is the father of K 
who is the only son of D. The only Unmarried 
sister-in-law of E is W who has no brother. O 
is the only sibling of E. F is the daughter of K.
एक पररवार के छह सदस्य E, K, O, F, D और W एक 
दूसरे से सबंंनित हैं। E, K का नपता है जो D का 
इकिौता पुत्र है। E की इकिौती अनववानहत ाााी W 
है नजसका कोई ााई िहीं है। O, E का इकिौता सहोदर 
है। F, K की पुत्री है।



Six members of a family E, K, O, F, D and W 
are related to each other. E is the father of K 
who is the only son of D. The only Unmarried 
sister-in-law of E is W who has no brother. O 
is the only sibling of E. F is the daughter of K.
How many females are there in the family?
01. One 
02. Two
03. Three 
04. Four
05. Cannot be determined



Six members of a family E, K, O, F, D and W 
are related to each other. E is the father of K 
who is the only son of D. The only Unmarried 
sister-in-law of E is W who has no brother. O 
is the only sibling of E. F is the daughter of K.
If Q is married to K then how is Q related to 
O?
01. Daughter 
02. Sister
03. Mother 
04. Niece
05. Daughter-in-law



Six members of a family E, K, O, F, D and W 
are related to each other. E is the father of K 
who is the only son of D. The only Unmarried 
sister-in-law of E is W who has no brother. O 
is the only sibling of E. F is the daughter of K.
How is F related to D?
01. Granddaughter 
02. Sister
03. Mother 
04. Niece
05. Daughter



387, 654, 321, 879, 521

If all the numbers are arranged in descending order, 

which of the following number is third from the left?

यनद साी संख्याओ ंको अवरोही क्रम में व्यवनस्थत नकया जाए, 

तो निम्िनिनित में से कौि सी संख्या बाए ंसे तीसरी है?

(1) 654 

(2) 879 

(3) 321

(4) 387 

(5) 521



387, 654, 321, 879, 521

If in each number all three digits are added then how 

many numbers are completely divisible by four?

यनद प्रत्येक संख्या में साी तीि अंक जोड़ नदए जाए ंतो नकतिी

संख्याए ंचार से पूर्णतः नवााज्य होंगी?

(1) One 

(2) Four 

(3) Five

(4) Two 

(5) None



387, 654, 321, 879, 521

If in each number first and second digits are 

interchanged, in which number all the digits are 

arranged in descending order?

यनद प्रत्येक संख्या में पहिे और दूसरे अंक को आपस में बदि 

नदया जाए, तो साी अंक नकस संख्या में होंगे?

अवरोही क्रम में व्यवनस्थत?

(1) One 

(2) Four 

(3) Five

(4) Three 

(5) None



How many such pairs of letters are there in the word 

“BHIMRAOAMBEDKAR” each of which have as 

many letters between them in the word, as they have 

in the English Alphabetical order?

शब्द "BHIMRAOAMBEDKAR" में अक्षरों के ऐसे नकतिे 

जोडे़ हैं नजिमें से प्रत्येक के बीच शब्द में उतिे ही अक्षर हैं, 

नजतिे उिके बीच अंगे्रजी वर्णमािा क्रम में हैं?

(1) One 

(2) Three 

(3) Two

(4) Four 

(5) More than Four



What should come in place of the question mark in 

the alphabetical series?

वर्णमािा क्रम में प्रश्न नचह्न के स्थाि पर क्या आिा चानहए?

AY, FT, KO, PJ, ?

(1) BU 

(2) AD 

(3) VU

(4) UC 

(5) UE



Statements: 
L > M, M > N, N > P > T > Q

Conclusions: 
I. L > P
II. M > P

(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements: 
A < B < C < D = E < T < O

Conclusions:

I. B ≤ E
II. B < E

(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements: 
H < J, F < H, J = K, I < J < P

Conclusions:
I. H > I

II. I ≥ F

(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements: 
P > M > Q, Q > Z > N > Y

Conclusions: 

I. M ≥ Z
II. N < P

(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Statements:
A > B, B = H, H > G > J

Conclusions: 
I. A > G
II. A > H

(1) Only conclusion II is true.
(2) Only conclusion I is true.
(3) Both conclusions I and II are true.
(4) Neither conclusion I nor conclusion II is 
true.
(5) Either conclusion I or conclusion II is true



Eight persons i.e., P, Q, R, S, T, U, V and W are sitting around a 
circular table, not necessarily in the same order. Four persons are 
facing towards the centre of the table while the rest are facing 
away from the centre of the table, but not necessarily in the same 
order. Not more than two persons sitting adjacent to each other 
are facing in the same Direction. Only two persons sit between W 
and S. T faces outside. Both W and S face outside. V sits 2nd to the 
right of S. P is not an immediate neighbour of W. Only one person 
sits between Q and W. U sits 2nd to the left of Q, who sits to the 
immediate left of S. T is not an immediate neighbour of Q. T sits 
3rd to the right of U
आठ व्यनक्त यािी, P, Q, R, S, T, U, V और W एक गोिाकार मेज के चारों 
ओर बैठे हैं, जरूरी िहीं नक इसी क्रम में हों। चार व्यनक्तयों का मुि मेज के कें द्र की 
ओर है जबनक बाकी का मुि मेज के कें द्र से बाहर की ओर है, िेनकि जरूरी िहीं 
नक इसी क्रम में हों। एक दूसरे के बगि में बैठे दो से अनिक व्यनक्त एक ही नदशा 
का सामिा िहीं कर रहे हैं। W और S के बीच केवि दो व्यनक्त बैठे हैं। T का मुि
बाहर की ओर है। W और S दोिों का मुि बाहर की ओर है। V, S के दायें से 
दूसरे स्थाि पर बैठा है। P, W का निकटतम पड़ोसी िहीं है। Q और W के बीच 
केवि एक व्यनक्त बैठा है। Q का पड़ोसी। T, U के दायें से तीसरे स्थाि पर बैठा है



Eight persons i.e., P, Q, R, S, T, U, V and W are sitting around 
a circular table, not necessarily in the same order. Four 
persons are facing towards the centre of the table while the 
rest are facing away from the centre of the table, but not 
necessarily in the same order. Not more than two persons 
sitting adjacent to each other are facing in the same Direction. 
Only two persons sit between W and S. T faces outside. Both 
W and S face outside. V sits 2nd to the right of S. P is not an 
immediate neighbour of W. Only one person sits between Q 
and W. U sits 2nd to the left of Q, who sits to the immediate 
left of S. T is not an immediate neighbour of Q. T sits 3rd to 
the right of U
Who among the following sits to the immediate 
right of P?
(1) R 
(2) W 
(3) V
(4) S 
(5) None of these



Eight persons i.e., P, Q, R, S, T, U, V and W are sitting around 
a circular table, not necessarily in the same order. Four 
persons are facing towards the centre of the table while the 
rest are facing away from the centre of the table, but not 
necessarily in the same order. Not more than two persons 
sitting adjacent to each other are facing in the same Direction. 
Only two persons sit between W and S. T faces outside. Both 
W and S face outside. V sits 2nd to the right of S. P is not an 
immediate neighbour of W. Only one person sits between Q 
and W. U sits 2nd to the left of Q, who sits to the immediate 
left of S. T is not an immediate neighbour of Q. T sits 3rd to 
the right of U
Which of the following is true regarding S?
(1) S faces T.
(2) S sits to the immediate right of V.
(3) S sits to the immediate left of Q.
(4) The immediate neighbors of S face outside.
(5) All of the above



Eight persons i.e., P, Q, R, S, T, U, V and W are sitting around 
a circular table, not necessarily in the same order. Four 
persons are facing towards the centre of the table while the 
rest are facing away from the centre of the table, but not 
necessarily in the same order. Not more than two persons 
sitting adjacent to each other are facing in the same Direction. 
Only two persons sit between W and S. T faces outside. Both 
W and S face outside. V sits 2nd to the right of S. P is not an 
immediate neighbour of W. Only one person sits between Q 
and W. U sits 2nd to the left of Q, who sits to the immediate 
left of S. T is not an immediate neighbour of Q. T sits 3rd to 
the right of U
Who among the following faces Q?

(1) P 
(2) V 
(3) T
(4) U 
(5) None of these



Eight persons i.e., P, Q, R, S, T, U, V and W are sitting around 
a circular table, not necessarily in the same order. Four 
persons are facing towards the centre of the table while the 
rest are facing away from the centre of the table, but not 
necessarily in the same order. Not more than two persons 
sitting adjacent to each other are facing in the same Direction. 
Only two persons sit between W and S. T faces outside. Both 
W and S face outside. V sits 2nd to the right of S. P is not an 
immediate neighbour of W. Only one person sits between Q 
and W. U sits 2nd to the left of Q, who sits to the immediate 
left of S. T is not an immediate neighbour of Q. T sits 3rd to 
the right of U
Four of the following five are alike in a certain way and hence 
they form a group. Find the one which does not belong to that 
group?
(1) P-W 
(2) Q-U 
(3) S-R
(4) U-W
(5) R-T



Eight persons i.e., P, Q, R, S, T, U, V and W are sitting around 
a circular table, not necessarily in the same order. Four 
persons are facing towards the centre of the table while the 
rest are facing away from the centre of the table, but not 
necessarily in the same order. Not more than two persons 
sitting adjacent to each other are facing in the same Direction. 
Only two persons sit between W and S. T faces outside. Both 
W and S face outside. V sits 2nd to the right of S. P is not an 
immediate neighbour of W. Only one person sits between Q 
and W. U sits 2nd to the left of Q, who sits to the immediate 
left of S. T is not an immediate neighbour of Q. T sits 3rd to 
the right of U
Who among the following sits to the immediate 
left of R?
(1) P 
(2) Q 
(3) W
(4) V 
(5) None of these



Eight persons i.e. P, Q, R, S, T, U, V and W are living in 
an eight storey building with ground floor numbered as 
1, above floor numbered as 2 and so on till the top floor 
numbered as 8. All information not necessarily in the 
same order.P lives above W. As many persons live above 
P as lives below W. U lives just above V. U lives below T 
and above W. R lives just above Q. Q does not live just 
above S. Three persons live between P and S. Three 
persons live between W and T.
आठ व्यनक्त अथाणत ्P, Q, R, S, T, U, V और W एक आठ मंनजिा 
इमारत में रह रहे हैं, नजसमें ाूति की संख्या 1 है, ऊपर की मंनजि 
की संख्या 2 है और इसी प्रकार शीर्ण मंनजि की संख्या 8 है। साी 
जािकारी जरूरी िहीं नक इसी क्रम में हो। P, W के ऊपर रहता है। P 
के ऊपर उतिे ही व्यनक्त रहते हैं नजतिे W के िीचे रहते हैं। U, V के 
ठीक ऊपर रहता है। U, T के िीचे और W के ऊपर रहता है। . P और 
S के बीच तीि व्यनक्त रहते हैं। W और T के बीच तीि व्यनक्त रहते हैं।



Eight persons i.e. P, Q, R, S, T, U, V and W are living in 
an eight storey building with ground floor numbered as 
1, above floor numbered as 2 and so on till the top floor 
numbered as 8. All information not necessarily in the 
same order.P lives above W. As many persons live above 
P as lives below W. U lives just above V. U lives below T 
and above W. R lives just above Q. Q does not live just 
above S. Three persons live between P and S. Three 
persons live between W and T.
Which among the following statement is true 
regarding S?
(1) S lives just above V.
(2) S lives just below Q.
(3) S lives on 3rd floor.
(4) S lives on 5th floor.
(5) None is true



Eight persons i.e. P, Q, R, S, T, U, V and W are living in 
an eight storey building with ground floor numbered as 
1, above floor numbered as 2 and so on till the top floor 
numbered as 8. All information not necessarily in the 
same order.P lives above W. As many persons live above 
P as lives below W. U lives just above V. U lives below T 
and above W. R lives just above Q. Q does not live just 
above S. Three persons live between P and S. Three 
persons live between W and T.
Who among the following lives just above the 
one who lives on 5th floor?
(1) U 
(2) S 
(3) T
(4) Q 
(5) None of these



Eight persons i.e. P, Q, R, S, T, U, V and W are living in 
an eight storey building with ground floor numbered as 
1, above floor numbered as 2 and so on till the top floor 
numbered as 8. All information not necessarily in the 
same order.P lives above W. As many persons live above 
P as lives below W. U lives just above V. U lives below T 
and above W. R lives just above Q. Q does not live just 
above S. Three persons live between P and S. Three 
persons live between W and T.
Who among the following lives on the 3rd floor?
(1) U 
(2) S 
(3) T
(4) Q 
(5) None of these



Eight persons i.e. P, Q, R, S, T, U, V and W are living in 
an eight storey building with ground floor numbered as 
1, above floor numbered as 2 and so on till the top floor 
numbered as 8. All information not necessarily in the 
same order.P lives above W. As many persons live above 
P as lives below W. U lives just above V. U lives below T 
and above W. R lives just above Q. Q does not live just 
above S. Three persons live between P and S. Three 
persons live between W and T.
Four of the following five are alike in a certain way and 
hence they form a group. Which one of the following 
does not belong to that group?
(1) P-R 
(2) R-Q 
(3) T-V 
(4) S-U
(5) V-W



Eight persons i.e. P, Q, R, S, T, U, V and W are living in 
an eight storey building with ground floor numbered as 
1, above floor numbered as 2 and so on till the top floor 
numbered as 8. All information not necessarily in the 
same order.P lives above W. As many persons live above 
P as lives below W. U lives just above V. U lives below T 
and above W. R lives just above Q. Q does not live just 
above S. Three persons live between P and S. Three 
persons live between W and T.
How many persons are living between P and U?
(1) One 
(2) Two 
(3) Three 
(4) Four
(5) None of these



In a certain code language,
“Who goes there” is coded as “pq tu sf”
“There he goes through” is coded as “sf uj tu ip”
“Where does he goes” is coded as “kl pz uj tu”
“He goes to nowhere” is coded as “uj tu ot cd”

What is the code for the word “there”?
(1) sf 
(2) pq
(3) tu
(4) ip
(5) None of the above



In a certain code language,
“Who goes there” is coded as “pq tu sf”
“There he goes through” is coded as “sf uj tu ip”
“Where does he goes” is coded as “kl pz uj tu”
“He goes to nowhere” is coded as “uj tu ot cd”

Which of the following word is coded as “uj”?
(1) goes 
(2) there 
(3) through
(4) he 
(5) None of the above



In a certain code language,
“Who goes there” is coded as “pq tu sf”
“There he goes through” is coded as “sf uj tu ip”
“Where does he goes” is coded as “kl pz uj tu”
“He goes to nowhere” is coded as “uj tu ot cd”

What is the code for the word “to”?
(1) ot
(2) cd
(3) kl 
(4) pz
(5) Cannot be determined



In a certain code language,
“Who goes there” is coded as “pq tu sf”
“There he goes through” is coded as “sf uj tu ip”
“Where does he goes” is coded as “kl pz uj tu”
“He goes to nowhere” is coded as “uj tu ot cd”

What is the code for the word “through”?
(1) sf 
(2) pq
(3) ip
(4) cd
(5) None of the above



In a certain code language,
“Who goes there” is coded as “pq tu sf”
“There he goes through” is coded as “sf uj tu ip”
“Where does he goes” is coded as “kl pz uj tu”
“He goes to nowhere” is coded as “uj tu ot cd”

What is the code for the word “Where”?
(1) pq
(2) tu
(3) pz
(4) kl
(5) Cannot be determined






